Log10 relative fusion / fission rate, R

>

© o = = DN
A 0O N O O

© o o
o H»~ O

L 4
o N

o
o

-20-16-12-08-04 0.0 04 08 1.2 1.6 2.0
Log10 relative churn, M

O

Log10 relative tusion / fission rate, R

no
o

S o o o = =
A O B~ 00 DD O

o
o

L 4
o N

o
o

-20-16-1.2-0.8-04 0.0 04 08 1.2 16 2.0

Log10 relative churn, M

@

Log10 relative fusion / fission rate, R

n
o

1.6
1.2
0.8

0.00025

0.4

0.00000

-20-1.6-12-0.8-04 00 0.4 0.8 1.2 1.6 2.0

0.0
-0.4
-0.8
-1.21
-1.61
-2.01

2.0-1.6-1.2-0.8-0.4 0.0 0.4 0.8 1.2 1.6 2.0
Log10 relative churn, M

—1.10

|
=
—_
Ot

L
Log10 relative error ansatz

—1.25

—1.30

—1.00

1B
R
tz

IVvEe error ansa

r—1.10

r—1.15

|
Log10 relat

—1.25

—1.30

—1.100

—1.125

r—1.150

r—1.175

r—1.200

r—1.225

—1.250

Logl0 relative error ansatz

—1.275

—1.300

(indep network)

Log10 relative fusion / fission rate, R

Log10 relative fusion / fission rate, R

Log10 relative fusion / fission rate, R

vy

© O ©o © o = = N
o B O B © M oo O

4L 4
(o )N \V

N
o

m

L

N
o

© © o o o = =
oo », O S 00O N O

o
o

4 4
o N

-20-16-12-08-04 0.0 04 0.8 1.2 16 2.0
Log10 relative churn, M

I().Ol?

0.008 —~
e}

Il
0.006 <

A,

0.004

0.002

-20-16-1.2-08-04 0.0 0.4 0.8 1.2 1.6 2.0 0000

-20-16-1.2-08-04 0.0 04 08 1.2 1.6 2.0
Log10 relative churn, M

-20-16-1.2-08-04 0.0 04 0.8 1.2 1.6 2.0
Log10 relative churn, M

—1.05

r—1.10

r—1.15

L
Log10 relative error ansatz

—1.25

—1.30

—0.95

—1.00

r—1.05

r—1.10

|
=
—_
ot

L
S
Logl0 relative error ansatz

|
E
DO
Ut

—1.30

(indep network)

© o = = N
A 0O D O O

© o o
oo H~ O

L4
o B )

Log1 0 relative fusion / fission rate, R

-20-16-12-08-04 0.0 04 08 1.2 1.6 2.0

Log10 relative churn, M

F

© © o = = N
o H~ 0O N O O

o o
© »

N 4o 4
o o N

-2.0-16-1.2-08-04 0.0 0.4 0.8 1.2 1.6 2.0

Log10 relative fusion / fission rate, R

© o = = DN
A~ 0O N O O

© o o
oo H» O

Log10 relative fusion / fission rate, R

L4
o N

20-16-1.2-0.8-0.4 0.0 0.4 0.8 1.2 1.6 2.0

Log10 relative churn, M

-20-16-1.2-08-04 0.0 04 0.8 1.2 1.6 2.0
Log10 relative churn, M

r—1.10

—1.00

|
=
o
St

|
=
)—\
o

|
=
)—l
ot

—1.20

Log10 relative error ansatz

|
=
NS
St

—1.30

—0.90

—0.95 g

ns

-—1.00 (O

ror

-—1.05 =

lative e

—1.15 ©

Or

—1.20 v

0g

—1.25—

—1.30

—1.00

I
)_k
@)
Ut

|
H
—
o

|
H
N
S

| I
& &
Log10 relative error ansatz

—1.30

(indep network)



